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. Us U, Ug Iy Ig s u Ry
' vV | mA v v pA | 107BA | ANV VY Q
DF 7032 TIf 125 10,5 —3 200 | —250 17,5 1,8
IM-4 ccep | 13 | 24 8 —3 300 | —Il00 80 2,2
3M7 cccp 7 | 7 -2 200 | —50 80 1,6
4 -2 50
ETI GEC 2 1 100 { o - 100 Ma
6 -2 70 1 3
ET3 GEC 6 1,25 { 6 —3,5 > lou
9 maximum A
ME 1400%) eur 45 | 160 45 -2 100 | —5000 20 G
9 | —2+-375 100 | —85 |[70+90|17+27
ME 1401 Ml e {25 250 | —125 maximum
9 —2+-3,75 100 | —I60 | 60--90 | 1,65-2,7|
ME 1404 Mul 3 125 { 25 —1000 maximum F F
. 75 —22 70--140) —50  [100--1301,8+2,2]
VX-55 Vie 7 125 { 50 —100 maximum £
XE2 Hiv 7 1,25 9 —2,9 100 | —150 90 > 10 ET1
XE3 Hiv 7 | 125 { 6 —3.9 o[-0 | 32 o
7.5 maximum
XE 4 Hiv 7 1,25 { 75 —29 | 100 [—100 | 70 | | 1o
7.5 maximum
4060 Mut 4 0,7 | 300 4 —2,5 | | 28 | 05 |
4060 Pht 5 0,7 300 [ maximum
1) vide Fig. 1; %) vide gr. 435
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